|

=]

L

. d;ms 'J&/_@f— LF

Ty Ao etue

|| Gt e P

| St L2

| Sele. 40 LC Lop A =20

Mot S2( (H2 F
(,4'55‘/'51/!.-{,} iG /ZZ /‘ZO (g‘ >

7}'”&5;'1«";"33, 7 2(9 :" ZX("’ZX‘L

Solve (usig whatewr metbod fon @SG) ottt fhe pomal

Cle  Hopl o e bt L

(Sing  shuiar rdeas Fo horo o ok e Aemt LFP W
Seratrls ma art- @ N, fb,xf o recoves e
Of'fym_é/f ;D/?M lLr 7

= 2x( + ey

% 3B & (v

A

Ay X <S¢
/X'z_ "LL/)() f_\(‘{ \<é
% e (y=6..~)

(d:o ) o

Win'te vl tmbleas,

Sstw Qe (P o) #he At megusty
Sor A= S (i §F>03)

SE mplcat by S E+L
Wik Fwal [ olleau.
K K28,

Wil Frvel Tablecee .

(D) Rewrite. the primet LPin equaatity Bom, then ke duak,
Ts the dual [P cgumtnt o e doal  LP fom part @ [

Cp»\s-'c&r froblesm 3 ‘Qbﬁ (;e,_-;:“"d_ | ( *3_"_1_'_—.94.“ g,:-ma M;""‘j )
\Ur; = ‘ELC— dut Z’F Catet +o 1. LP Use L Ko ppfim te
Sbiate 99 Q.f Pld\,c_r Z 5 . Slhrw -é&_{'g ‘s ‘_iﬁar'wrfdv'/’ o N LP

O Plager C'S  Stortegy,

\De:f*uc- e dual [P o Sermted o5 we didl o clss.

L
| s® K, t Ko £

_TI e e X *'—37(.7.535/ I —
i ' £ 2o
| X, , ¥Xe o



